CO$EL Three phase input type(2-stage filter)

TBC series(50,60,80,100,1504) | T8¢ -so -es3

® @ ®
L\ WZONE Fkio mrusssaeo B 3 aied Curns
H Us —— Pt - P *  (@Line to ground capacitor code:See table 1.1.

ROHS table1.1 Line to ground capacitor code
Code Leakage Current I;;nz(t:(_)tg:ound
ﬁ-l (Input 250/500V 60Hz) (ngmir"al value)
e C O 223 1.0mA/2.0mA max 22,000pF
683 2.5mA/5.0mA max 68,000pF
104 3.5mA/7.0mA max 100,000pF

#When the line to ground capacitor code is
different, the attenuation characteristic is
different.

Features of TBC series

High-attenuation type of common mode noise from 150kHz to 1MHz (2-stage filter)
- Three phase rated voltage 500 VAC (voltage range:528V max)
- Selectable leakage current value

Specifications
No. | items TBC-50-683 | TBC-60-683 | TBC-80-683 | TBC-100-683 | TBC-150-683
1 Rated Voltage[V] AC Three Phase 500 (voltage range:528 max) 50/60Hz
2 | Rated Current[A] 50 | 60 | 80 | 100 | 150
3 Test Voltage (Terminal-Mounting Plate) 2,500 VAC (Cutoff Current = 100mA), 1minute at room temperature and humidity
4 Isolation Resistance (Terminal-Mounting Plate) | 500 VDC 100M< min at room temperature and humidity
5 Leakage current 250/500V 60Hz 2.5mA/5.0mA max
6 DC resistance 14mQ max ‘ 10mQ max | 10m€ max 8mQ max 6mQ max
7 Safety agency approval temperatures -25 to +85°C (Refer to Derating Curve)
8 Operating temperature -40 to +85°C (Refer to Derating Curve)
9 Operating humidity 20 to 95%RH (Non condensing)
10 Storage temperature/humidity -40 to +85°C/20 to 95%RH (Non condensing)
11 Vibration 10 to 55Hz, 19.6m/s?(2G), 3min. Period, 1hour each X, Y and Z axis
12 Impact 196.1m/s?(20G), 11ms Once each X, Y and Z axis
13 Safety agency approvals UL1283, CSA C22.2 No.8 (C-UL) , DIN EN60939 VDEO0565 Teil3-1, ENEC
. . L 140X 80X 374 mm (W XHXD) 150 X 92 X456 mm (W X H X D) 190X92X482mm (WXHXD)
14 Case size (without projection) - - -
[56.51X3.15X14.72 inches] [5.91 X3.62 X 17.95 inches] [7.48X3.62X 18.98 inches]
15 Weight 4.3kg max 7.7kg max 9.6kg max
Circuit Diagram Derating Curve
LINEr 7Qa§§ e 1LOAD 100
: | 5 N
10 (m m 04 §80 \
‘ (004 (00 ‘ =
20 05 560
5 (o0 au) ‘ g N\
3 06 £ 40
ertert ririrt 1a11 | =
| m 5D 520
i ey 7
i CYT I? 0 3(\
] = = ! 40 30 -20 40 50 60 70 80 90
CY : Line to ground capacitor = : Mounting Plate Ambient Temperature [C]

* Keep free ventilation holes for cooling.

TBC-1 July 08, 2020



TBC series (50,60,80,100,150A)

TBC-50-[ [ [ ]/TBC-60-[ | ||

 CO$EL

80
374 [3.15]
[14.72] 58
323 M 28]
[12.72] Protection Earth &)
2|8
© 9 “ls
° 02080808 20208080 08080208 20808080 &
Input (] ©O0803080 08030807 ©06308880 68380307 J_L 6-M5 @®
Terminal | | & 08020  9R% 020 08020 |
808030 080 080 680308
e — 1 08086 e} ! (o} 0030 Output
wla 090960 950 Name |Plate 050  ©59p04 4 "
= 83 & |2 Tominal 589888 858 N = I
Q5 H|T QpsTeminal| [3rRs), 090960 ©o o© 5% ¢ o e = .
<o ol Input 00909 09 090 0209009 SPHL [ Terminal
Terminal 808080 080 080 0808083 ~ =
e 3 808080 080 680 980803 6 =Sle
=) 0808a% Qa3 080 6808068 Output =
e 090803 208040 05,0208 803030 KT [N Terminal
& ( 08080808 96868080 08080808 80868030 D @
% 08080808 39808080 | 08989398 80808980 _
© ' © \ 0|8
= ! Sls
i
2-¢$6.5 \Mounting Plate / Terminal cover
[0.26] Mounting Hole 359 *05
[14.13]
% Can not be mounted upside-down.
(mounted the top surface) * Tolerance : £1[£0.04]
% Weight : 4.3kg max
% Chassis Material : Stainless steel t=1.0 [0.04]
3% Dimensions in mm, [  ]=inches
% Terminal block screw tightening torque M5:3.0N * m (30.7kgf + cm) max
% Protection Earth screw tightening torque M4:1.6N - m (16.9kgf - cm) max
TBC-80-[ [ ] ]/TBC-100-[ | ]|
92
[3.62]
456 65.5
[17.95] M6 [2.58]
409 Protection Earth & 61
[16.1] [2.4]
0 |©
@ 00690969 0090969 06909092 0690909 @@J <3 ‘B]
ogonogono oﬁoﬁogogo8 8080800080 onogonogo A= =5 @
Input. N 038398838 9383938335 0309033338 933883839 6-M8
Terminal QoRa20 0Qp0a0 050596 020059 = -
] 1 980808 03030 080808  8o8080 4 Outpul
2 908080 08038088 ! 808080 080808 Terminal
° o= = Q39393 323932 N Plat 0303938 323932 = ermina |
— HIF |- — ] 030808 823289 ame|Flate 080808 808080 =7
ol ol= = 09090 690690 09090 5°6°0 Output
B2 3| -T2 - - -—-5 27~ Terminal -
2le 2 = 000090  0Q0Q0Q 0000%0  0Q000Q I _erminal
= Input ! 909030 083308 908080 980803 I —
i =i 909030 083308 908030 08038038 = Output <+ 1 X
Terminal 3 197019263806} 6989¢0 059598 020959 ) IR
inout Q5059 893930 089593 Q3059 {_Terminal™N| 5
nput. = 0808030  6808080~0 000303090 0808680 = =
Terminal - F1] 080808080 9808080808 8080808080 980808030 HT )
Z N ° 680808080  686868680° ‘ 0580808080 636868636 o ) =
0§
| sls
2-¢$6.5 Terminal cover
[0.26] Mounting Hole 441%05 Mounting Plate
[17.36]

3% Can not be mounted upside-down.
(mounted the top surface)

% Tolerance : £1 [£0.04]

% Weight : 7.7kg max
% Chassis Material : Stainless steel t=1.0 [0.04]
3 Dimensions in mm, [
3 Terminal block screw tightening torque M8:9.2N - m (93.9kgf -+ cm) max

% Protection Earth screw tightening torque M6:5.8N * m (59.2kgf * cm) max

July 08, 2020

]=inches

TBC-2



CO$EL | TBC series (50,60,80,100,1504)

92
[3.62]
482 65.5
[18.98] [2.58]
435 M6 61
[17.13] Protection Earth © [2.4]
0|
SN
S ©ls
© S~O~OO, O~ OS; O ~O~OE O~O~O~E ©
8080508082 93080308089 08090308080 9808830808
Input 0303080808 Y3R3R080808 80808080308 08083636306 6-M8
Teminal | LLG 8959350958 93859955588 §995559558 9888950898 ) M8 | @
ermina 03080808  82893280~0 | 0903030308 32303030 p—
080830 080830 03030 03030
0808030 9868080 0808080 9868580
i ORORORO ORORORO ORORORO ORORORO 4 Output
pd - 0308030 9863090 0808080 9868630 :
e @[ A303030 88083030 N Plat AR03088 6303080 Terminal
o Hls ~o T BR0K0! BR0K0! ame|Flate OR0K0! OR0K0! o N
o|® 5 = 0808030 0808080 0808080 08068080
=2 N0 2 5
- |~ <0 T - - - - 1 p-t— Output — ——
= 10, 06960 069690 062090 06060 Terminal
- ; 0808080 9808080 0808080 9808080
0808030 9808080 0808080 9808089 I —
Input 0808086 9868080 0808080 63068080 Output < [
put 3 0808080 9808080 0808080 9808080 8 g | S
Terminal 0808080 9808080 0808080 0808080 Terminal™ { S
— 08080808 8980808040, ! 0508080808 80808030, -
Input 0080808080 63080868080 08086808080 686868080 KT
i { 0808080808 30808030808 80808080808 3080808080 D @
Terminal 09808039¢0 08080303980 5089526082 Or08289528
— 8080808080 680808083080 3080808080 6868080898
SRR 6696 SCECE0S SCEC60S
© © \J ole
2l N
©|g,
2-$6.5 / Terminal cover
0.26] Mounting Hole .
. 1 9 467 0.5 Mounting Plate
[18.39]

3% Tolerance : £1 [£0.04]

Weight : 9.6kg max

% Chassis Material : Stainless steel t=1.0 [0.04]

3 Dimensions in mm, [  ]=inches

% Terminal block screw tightening torque M8:9.2N - m (93.9kgf * cm) max
% Protection Earth screw tightening torque M6:5.8N - m (59.2kgf - cm) max

% Can not be mounted upside-down.
(mounted the top surface)

TBC-3 July 08, 2020



	Specifications, Circuit Diagram, Derating Curve
	External view

